1.

A dog weighs 25 kg.

a) Approximately, what is the weight of the dog in pounds?

Ib
b) There are 14 pounds in a stone.
Approximately, what is the weight of the dog in stones
and pounds?
stone Ib
2.
The capacity of a barrel is 11.36 .
a) Approximately, what is the capacity of
the barrel in pints? m
pints
b) There are 8 pints in a gallon.
Approximately, what is the capacity of the barrel in gallons?
gallons




A set of scales is balanced.

What is the weight of the box? Give your answer in pounds.

A milkman delivers 50 pints of milk a day.

How many litres of milk does he deliver in a full week?




The average weight of a newborn baby is 7.5 |b.
Dora weighed 3.5 kg when she was born.

Did Dora weigh more or less than the average
weight when she was born?

Approximately, how much more or less than the average did
she weigh?




